()  Printed Pages : 7 RollNe. oo

() Questions s Sub. Code: 0]5]1 7
Exam. Code: [0/ 0| 0] 6

B.A./B.Sc. (General) 6" Sem.
(2042)
ECONOMICS (In all Mediums)
Paper : Indian Economy

Time Allowed : Three Hours| [Maximum Marks : 90

Note :— (1) This question paper consists of five Sections. From
Section A attempt nine questions, each carries 2 marks,

cvery answer should not exceed 25 to 30 words.

(2) Attempt one question each from the other Sections,

each cam'_es 18 marks.
SECTION-A

. (a) Whatistheneedof minimum support price for agricultural

produce ?

(b) Name the three sectors relative contribution in national

Income in descending order at present times.
(c) What is meant by distress sale of agricultural produce ?

(d) What is meant by plan holiday ?
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(e) Givetwo examples for sun rise industries.
(f) Why no food security at households level in India ?
(@) What is meant by core inflation ?

(h) What is the mechanism to devolve financial resources from |
Central Govt. to States and Union Territories in India ?

() Name the two largest multinational corporations doing

business in service sector in India.

() Name the body constituted in the place of Planning

Commission in India.
(k) What is meant by parallel economy ?
() What is meant by multidimensional poverty?  2x9=18

SECTION-B

2.  Explain the importance of agriculture. Do you believe that increase
in productivity is enough to enhance farmersincome ?  13+5

3.  Critically evaluate the impact of green revolution with special

reference to environment in India. 18

SECTION-C

4.  What are the advantages of industrial development in India ?
18

5.  What are the problems of small scale industries in India? 18
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SECTION-D

6.  Explain the role of multinational corporations in India. Give your
argument that the existence of multinational corporations lead to

economic imperialism in India. 13+5
7. Explain the salient features of Indian tax system. 18
SECTION-E

8.  Explain the achievements and failures of Five Year Plans in
India. 18

9.  What are the causes of educated unemployment in India, suggest

measure to solve the problem. 18
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